JFor=(-1)Y n=7P

Scalar 0t +1 +1
Pseudoscalar | 0~ +1 —1
Vector 1~ —1 +1
Pseudovector | 17 -1 -1

Tensor 2" +1 +1



™ p— 7°n P
T™ p—1nn an
K p— K as, p
mtp — wEp| f,p, P

vp — 70p |w,p, b, by

vp—>7r+n aapaﬂ-abl



do/dt (pb.GeV‘z)

0.01

S

0.0 0.5 1.0 1.5 2.0 25 3.0
—t(GeV?)
Lot ]
0.8 ] ]
Zin’p)
sk — 4 GeV ]
— 6 GeV
— 10GeV
0.4 ]
0.2} ]
0.2 0.4 0.6 0.8 To

Vo1 (GeY)




1
My = 757w F™

M, = vsp3 (P2 + pa) F*
Mz = 75%[33,11“"
i

M4 — Eeaﬁ,uu/yap?? F/H/

WY — NV vV M
F=e'pl —e'py

4

A iz = UM4(p4) Z Aj(scalars, ,ul)Miu#z (p2)
i=1

4
At,\4)\2,)\1 = U)\4(p4) Z A,-(scalars, )\1)M,'V,\2(—p2)
i=1



In the t-channel center-of-mass frame
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These are not eigenstates of parity! But the F; are:
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t-channel helicity amplitudes:
relate observables and naturality of exchanges!

And what do we learn from the s-channel?

From factorization:
helicity-flip amplitudes go with /—t!
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